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Instructions : (1) All questions are compulsory.

(2) Figures at the right indicate marks.

1 Answer in detail : (Any Two)

(1)
@)
®3)
(4)

Write in detail about the Gods invoked in the poem,
"The Great Invocation".

Describe Sher Singh's journey from his house to the
hospital in your own words.

Describe the difference between the Chinese system of
learning and the American system of learning.
What were the arrangements and conditions for the
lawyer's confinement?

2  Answer the following questions in brief : (Any Four)

(1)
@)
®3)

(4)
(5)

(6)
()

In what ways, the two roads were different and similar
in the poem, "The Road Not Taken"?

What did Jade Snow Wong discuss with her professor
at Mills?

What type of assignment was Jade accustomed to do
in Junior College?

Why was Sher Singh's father called "Bahadur"?
What was Kunwar suffering from? What was his
condition like?

What does the term, Holy Masters' mean? What are
they supposed to know and serve?

What were the reasons for the decline in banker's
fortune?
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3 Write short notes : (Any Two) 14
(1) The lawyer's confinement for fifteen years.
(2) The character sketch of Sher Singh.
(3) Explain the poem "The Road Not Taken" in your own
words.
(4) Jade Snow Wong's struggle with the American system
of learning.

4  Draft a questionnaire : (Any One) 14
(1) Prepare a questionnaire to survey the living conditions
of factory workers in Gujarat.
(2) Draft a questionnaire to survey the college students'
attitude towards sports and games.

5 (A) Translate the following passage in Gujarati : 7
Computer is a revolutionary scientific invention. It has
drastically changed business, technology, transport,
communication, education, entertainment and everything
one can imagine. Computer is of great use to us.
However, there are some disadvantages of it, too. The
problem of unemployment is getting severe because
of its wide use. It also causes various diseases to the
users. It badly affects the eye-sight of the users.

(B) Translate the following passage into English : 7
Hgneld s oLl %=+ IR XU Neie ASHI 4]
gdl. duil SIell AR 5L HOA-S AUl 8dl. dHel aslald
slBoL il 93 3. s quid d 2qui Yas sl 8dl AR
AHA UM quid 39 el e 2l d-ll wa RBe dlal 9di,
Al 52 sl SAHIYl iR $4 Al AL dl, AR vl d
wIBLEll ddul 3l MR uesl s34l dHRl ‘Ul wHRl”

Al YaeisHi dusll wieisa qull ©.
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